DO NOW

Can you find a pattern among the numbers?

1. 3,6,9,12 ..
add 5 each Fime

mu ‘i\ples of B

2. 7,12,17,22,27...
oadd D each hwme

3. 10,20, 40, 80...
MMl‘tiP\\/ b\) Fwo <d(\ui>\e) cach time.

1.4 Tables

Given a table of related values:

To express the relationship between the quantities in words
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a. Express the relationship between the quantities in words.
o™y Total sal ary S) ecﬁ‘m bonus (\Q
Pl ws 79 O
b. Write as a formula.

S:bJquD

c. Fill in the missing numbers.

a. Express the relationship between the quantities in words.
Ioi‘a CQS+(C> @%\A@ O |5 -\—\/Y\QS

ounces(2) \olus 0,05,

b. Write as a formula.

C=015z +0.05

c. F111 in the missing numbers.

b=20 " b=310 0 b:%%o %0 E_\S o (5 zt005 C-0500 Co0mtD (20624005
P s = =bt Z s !
S0 ST A A C-091005  C=ols(vioh CZablan® - C-oblo oo
0 S =) S=70p c:l’LO+o % (z150+005 C=180102 C=300+0.06
S=550 S=60 =25 C=155 C=1%% C=3H
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FTm— drPPavénce 00’5 I
Startvalwe = 0,55 =

a. Express the relationship between the quantities in words.
The cost () equals O 03 Fimes tHhe number
of +exts () plus 055

b. Write as a formula.

C=0.03t +055
?t: :ing in the mis%iii% éiumbers. =75 JC: 150

C=003t+055 (=00%+055 (=003t+055  C=D03t+055
C=603ea+055  C=003E1055 (C=0WBMEIsS  (=063(+055
C=060+t055 (C=1561055 (=225+0%5 C = 3.60+055
c=lo C=205 C=72%0 C=355

HOMEWORK

Worksheet 1.4 Tables
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